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The temperature at the foot of hill is 10° C. It is decreaesd by 15° C at the top of the hill. The
difference between the both temperatures recorded is :

(a) -25°C (b) 25°C (c)5°C (d)-5°C
A rectangular board is 21/7 cm long and 18/5 cm wide. Find its perimeter.
(a) 231/35 cm (b) 251/35 cm (c) 261/35 cm (d) none of the above

Find the value of x inthe following diagram

P

(a) 35° (b) 45° (c) 55° (d) 80°
Which of the following statement is true:

(a) Two right angles can not be adjacent

(b) Two adjacent angles can be complementary

(c) An acute angle can not be adjacent to an obtuse angle

(d) Two complementry angles can be suplementary

Mean of the first eight prime numbers is

(a) 9.838 (b) 9.625 (c) 9.833 (d) 9.836

Which one of the following shapes, made of five same unit squares, has the smallest perimeter?

(a) (b)

(c) (d)
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Which plant shows both autotrophic and heterotrophic mode of nutrition.

(a) Timber Plant (b) Cuscuta

(c) Pitcher Plant (d) All of the above

Which one of the following is difficult to digest for animals as humans
(a) cellulose (b) bile juice

(c) Nh3 (d) proteins

The formation of sea and land breeze form the classic examples of
(a) Convection (b) Radiation

(c) Conduction (d) All of above

The skin of earthworm and leech is moist and richly supplied with blood because they have

(a) gills (b) blood vessels

(c) not blood vessels (d) none of above

The aggregate of all crowns in a stand of vegetation, which is the combination of all foliage, twigs,
fine branches, epiphytes as well as the interstices (air) in a forest”

(a) forest floor (b) understory

(c) canopy (d) crown

If i=40°, so rwill be

(a) 30° (b) 40°

(c) 50° (d) 60°
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SOCIAL STUDIES

is the solid crust or the hard top layer of the earth

(a) Atmosphere (b) Land
(c) Lithosphere (d) Biosphere

Limestone, under heat and pressure, changes into marble, which is a

(a) metamorphic rock (b) Sedimentary rocks
(c) Black rock (d) Igneous Rocks

of land formed by the river deposits at the mouth of a river

(a) flat plains (b)Alluvial tracts
(c) dry area (d) cliff

These sand dunes are crescent-shaped and sometimes have vegetation at the tips. They are found
in the Death Valley of California.

(a) Linear sand dunes (b) Reversing sand dunes
(c) Barchan sand dunes (d) Parabolic sand dunes

Which Article in Indian Constitution defines equality and prohibits any kind of social discrimination?

(a) Article 10 (b) Article 12
(c) Article 15 (d) Article 21

Who started Civil Right Movement

(a) Rose Mary (b) Anug San
(c) Nelson Mandela (d) Rosa parks

COMPUTER SCIENCE

Supercomputers have numerous applications in area of

(a) Data record (b) Office work
(c) Weather forecasting (d) All of above

is the largest memory unit

(a) Pete byte (PB) (b) Yotta byte (YB)
(c) Zotta byte (ZB) (d) Exe byte (EB)
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